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1. B2 [15 7]

1-1. Predict the order of decreasing vapor pressure at a given temperature for the following
compounds: (a) FCH,CH,F, (b) HOCH,CH,OH, (c¢) HOCH,CH,F.
®a>b>c @a>c>b @b>a>c @®b>c>a ®c>a>b ®c>b>a

1-2. Arrange the following substances in order of decreasing solubility in hexane (C¢Hy4): (a)
CH;OHCH,OH, (b) CioHa,, (c) H,0.
®a>b>c @a>c>b @b>a>c @b>c>a ®c>a>b ®c>b>a

1-3. Arrange the following ions by decreasing ionic radius: (a) F, (b) Na*, (c) N*".
®a>b>c @a>c>b @b>a>c @b>c>a ®c>a>b ®c>b>a

1-4. Predict the reaction order of the reaction: A — B + C, if the concentration of A is
doubled and the rate doubles.
®0 @12 ®1 ®2 ®3 ®4

1-5. What is the oxidation number of the element Br in KBrQ,?
D-1 @0 @+1 @+3 BO+5 ® +7

2. #4A [20 #]
2-1. Give solubility product constant (K,) expression for iron(I11) hydroxide.
2-2. What is “buffer solution™?

2-3. Describe the hydrogen bonding between two H,0 molecules.

2-4. Describe the bonding in NO;™ using resonance formulas.

3. State whether each of the following sets of quantum numbers is permissible for an electron in
an atom. If a set is not permissible, explain why. [8 4]

@n=3,1=2,m=+3,m;=+1/2
®)r=2,1=1,m=0,mg=+1/2

©nrn=31=1,m=-2,m=-1/2
Dn=2,1=2,m=-1,m=-1/2

# @A A

3 RAEAURT




